



## On generalized Fibonacci and Lucas polynomials

Ayse Nalli<sup>a,\*</sup>, Pentti Haukkanen<sup>b</sup>

<sup>a</sup> Department of Mathematics, Faculty of Sciences, Selcuk University, 42075 Campus-Konya, Turkey

<sup>b</sup> Department of Mathematics, Statistics and Philosophy, 33014 University of Tampere, Finland

### ARTICLE INFO

#### Article history:

Accepted 10 April 2009

### ABSTRACT

Let  $h(x)$  be a polynomial with real coefficients. We introduce  $h(x)$ -Fibonacci polynomials that generalize both Catalan's Fibonacci polynomials and Byrd's Fibonacci polynomials and also the  $k$ -Fibonacci numbers, and we provide properties for these  $h(x)$ -Fibonacci polynomials. We also introduce  $h(x)$ -Lucas polynomials that generalize the Lucas polynomials and present properties of these polynomials. In the last section we introduce the matrix  $Q_h(x)$  that generalizes the  $Q$ -matrix  $\begin{pmatrix} 1 & 1 \\ 1 & 0 \end{pmatrix}$  whose powers generate the Fibonacci numbers.

© 2009 Elsevier Ltd. All rights reserved.

### 1. Introduction

In modern science there is a huge interest in the theory and application of the Golden Section and Fibonacci numbers [1–34]. The Fibonacci numbers  $F_n$  are the terms of the sequence 0, 1, 1, 2, 3, 5, ..., where  $F_n = F_{n-1} + F_{n-2}$ ,  $n \geq 2$ , with the initial values  $F_0 = 0$  and  $F_1 = 1$ .

Falcón and Plaza [11] introduced a general Fibonacci sequence that generalizes, among others, both the classical Fibonacci sequence and the Pell sequence. These general  $k$ -Fibonacci numbers  $F_{k,n}$  are defined by  $F_{k,n} = kF_{k,n-1} + F_{k,n-2}$ ,  $n \geq 2$ , with the initial values  $F_0 = 0$  and  $F_1 = 1$ . The Pell numbers are the 2-Fibonacci numbers. The  $k$ -Fibonacci numbers were found by studying the recursive application of two geometrical transformations used in the well-known 4-triangle longest-edge partition. On the other hand, in [12] the  $k$ -Fibonacci numbers were given in an explicit way and many properties were proven. In particular, the  $k$ -Fibonacci numbers were related with the so-called Pascal 2-triangle.

Polynomials also can be defined by Fibonacci-like recurrence relations. Such polynomials, called Fibonacci polynomials, were studied in 1883 by the Belgian mathematician Eugene Charles Catalan and the German mathematician E. Jacobsthal. The polynomials  $F_n(x)$  studied by Catalan are defined by the recurrence relation

$$F_n(x) = xF_{n-1}(x) + F_{n-2}(x), \quad n \geq 3, \quad (1.1)$$

where  $F_1(x) = 1$ ,  $F_2(x) = x$ . The Fibonacci polynomials studied by Jacobsthal are defined by

$$J_n(x) = J_{n-1}(x) + xJ_{n-2}(x), \quad n \geq 3, \quad (1.2)$$

where  $J_1(x) = J_2(x) = 1$ . The Fibonacci polynomials studied by P.F. Byrd are defined by

$$\varphi_n(x) = 2x\varphi_{n-1}(x) + \varphi_{n-2}(x), \quad n \geq 2, \quad (1.3)$$

where  $\varphi_0(x) = 0$ ,  $\varphi_1(x) = 1$ . The Lucas polynomials  $L_n(x)$ , originally studied in 1970 by Bicknell, are defined by

$$L_n(x) = xL_{n-1}(x) + L_{n-2}(x), \quad n \geq 2, \quad (1.4)$$

\* Corresponding author.

E-mail addresses: [aysenalli@yahoo.com](mailto:aysenalli@yahoo.com) (A. Nalli), [maphau@uta.fi](mailto:maphau@uta.fi) (P. Haukkanen).

where  $L_0(x) = 2, L_1(x) = x$ .

In this paper, let  $h(x)$  be a polynomial with real coefficients. We introduce  $h(x)$ -Fibonacci polynomials that generalize both Catalan's Fibonacci polynomials  $F_n(x)$  and Byrd's Fibonacci polynomials  $\varphi_n(x)$  and also the  $k$ -Fibonacci numbers  $F_{k,n}$ . In Section 2 we provide properties for the  $h(x)$ -Fibonacci polynomials. In Section 3, we introduce  $h(x)$ -Lucas polynomials that generalize the Lucas polynomials and present properties of these polynomials. In the last section, we introduce the matrix  $Q_h(x)$  that generalizes the  $Q$ -matrix  $\begin{pmatrix} 1 & 1 \\ 1 & 0 \end{pmatrix}$  whose powers generate the Fibonacci numbers. In this paper, we exhibit some properties of the classical type for the  $h(x)$ -Fibonacci and  $h(x)$ -Lucas polynomials and the matrix  $Q_h(x)$ .

## 2. The $h(x)$ -Fibonacci polynomials and their properties

**Definition 2.1.** Let  $h(x)$  be a polynomial with real coefficients. The  $h(x)$ -Fibonacci polynomials  $\{F_{h,n}(x)\}_{n=0}^{\infty}$  are defined by the recurrence relation

$$F_{h,n+1}(x) = h(x)F_{h,n}(x) + F_{h,n-1}(x), \quad n \geq 1, \quad (2.1)$$

with initial conditions  $F_{h,0}(x) = 0, F_{h,1}(x) = 1$ .

For  $h(x) = x$  we obtain Catalan's Fibonacci polynomials, and for  $h(x) = 2x$  we obtain Byrd's Fibonacci polynomials. If  $h(x) = k$ , we obtain the  $k$ -Fibonacci numbers. For  $k = 1$  and  $k = 2$  we obtain the usual Fibonacci numbers and the Pell numbers.

The generating function  $g_f(t)$  of the sequence  $\{F_{h,n}(x)\}$  is defined by

$$g_f(t) = \sum_{n=0}^{\infty} F_{h,n}(x)t^n. \quad (2.2)$$

We consider  $g_f(t)$  a formal power series. Therefore, we need not take care of the convergence of the series. For general material on generating functions we refer to the books [21,34].

**Theorem 2.1.**

$$g_f(t) = \frac{t}{1 - h(x)t - t^2}. \quad (2.3)$$

**Proof.** We have

$$\begin{aligned} g_f(t) - h(x)tg_f(t) - t^2g_f(t) \\ = F_{h,0}(x) + tF_{h,1}(x) + \sum_{n=2}^{\infty} t^n [F_{h,n}(x) - h(x)F_{h,n-1}(x) - F_{h,n-2}(x)] = t. \end{aligned}$$

We thus obtain (2.3).  $\square$

**Theorem 2.2.** Suppose that  $h(x)$  is an odd polynomial (that is,  $h(-x) = -h(x)$ ). Then  $F_{h,n}(-x) = (-1)^{n+1}F_{h,n}(x)$  for  $n \geq 0$ .

**Proof.** From (2.3) we obtain

$$\sum_{n=0}^{\infty} F_{h,n}(-x)(-t)^n = \frac{-t}{1 - h(x)t - t^2}$$

or

$$\sum_{n=0}^{\infty} (-1)^{n+1}F_{h,n}(-x)t^n = \frac{t}{1 - h(x)t - t^2}. \quad (2.4)$$

Applying (2.3) to the right-hand side of (2.4) we obtain

$$\sum_{n=0}^{\infty} (-1)^{n+1}F_{h,n}(-x)t^n = \sum_{n=0}^{\infty} F_{h,n}(x)t^n.$$

This proves Theorem 2.2.  $\square$

Binet's formulas are well known in the theory of Fibonacci numbers. These formulas can also be carried out for the  $h(x)$ -Fibonacci polynomials. Let  $\alpha(x)$  and  $\beta(x)$  denote the roots of the characteristic equation

$$v^2 - h(x)v - 1 = 0 \quad (2.5)$$

of the recurrence relation (2.1). Then

$$\alpha(x) = \frac{h(x) + \sqrt{h^2(x) + 4}}{2}, \quad \beta(x) = \frac{h(x) - \sqrt{h^2(x) + 4}}{2}. \tag{2.6}$$

Note that  $\alpha(x) + \beta(x) = h(x)$ ,  $\alpha(x)\beta(x) = -1$  and  $\alpha(x) - \beta(x) = \sqrt{h^2(x) + 4}$ .

We obtain the following Binet’s formula for  $F_{h,n}(x)$ .  $\square$

**Theorem 2.3.** For  $n \geq 0$ ,

$$F_{h,n}(x) = \frac{\alpha^n(x) - \beta^n(x)}{\alpha(x) - \beta(x)}. \tag{2.7}$$

**Proof.** From the theory of difference equations we know that the general term of the  $h(x)$ -Fibonacci polynomials may be expressed in the form  $F_{h,n}(x) = A\alpha^n(x) + B\beta^n(x)$  for some coefficients  $A$  and  $B$ . Using the values  $n = 0$  and  $n = 1$  we obtain  $A = \frac{1}{\alpha(x) - \beta(x)}$  and  $B = \frac{-1}{\alpha(x) - \beta(x)}$ , which proves (2.7).  $\square$

**Theorem 2.4.** For  $n \geq 1$ ,

$$F_{h,n}(x) = \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n-i-1}{i} h^{n-2i-1}(x). \tag{2.8}$$

**Proof.** From Theorem 2.1 we obtain

$$\begin{aligned} \sum_{n=0}^{\infty} F_{h,n}(x)t^n &= \frac{t}{1 - (h(x)t + t^2)} = t \sum_{n=0}^{\infty} (h(x)t + t^2)^n \\ &= t \sum_{n=0}^{\infty} \sum_{i=0}^n \binom{n}{i} (h(x)t)^{n-i} (t^2)^i \\ &= \sum_{n=0}^{\infty} \sum_{i=0}^n \binom{n}{i} h^{n-i}(x) t^{n+i+1}. \end{aligned}$$

Writing  $n + i + 1 = m$  we obtain

$$\sum_{n=0}^{\infty} F_{h,n}(x)t^n = \sum_{m=0}^{\infty} \left[ \sum_{i=0}^{\lfloor \frac{m-1}{2} \rfloor} \binom{m-i-1}{i} h^{m-2i-1}(x) \right] t^m.$$

This proves (2.8).  $\square$

**Theorem 2.5.** For  $n \geq 1$ ,

$$F_{h,n}(x) = 2^{1-n} \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2i+1} h(x)^{n-2i-1} (h^2(x) + 4)^i. \tag{2.9}$$

**Proof.** By (2.6) we have

$$\begin{aligned} \alpha^n(x) - \beta^n(x) &= 2^{-n} \left[ \left( h(x) + \sqrt{h^2(x) + 4} \right)^n - \left( h(x) - \sqrt{h^2(x) + 4} \right)^n \right] \\ &= 2^{-n} \left[ \sum_{i=0}^n \binom{n}{i} h^{n-i}(x) \left( \sqrt{h^2(x) + 4} \right)^i \right. \\ &\quad \left. - \sum_{i=0}^n \binom{n}{i} h^{n-i}(x) \left( -\sqrt{h^2(x) + 4} \right)^i \right] \\ &= 2^{-n+1} \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2i+1} h^{n-2i-1}(x) \left( \sqrt{h^2(x) + 4} \right)^{2i+1}. \end{aligned}$$

Thus, by (2.7),

$$\begin{aligned} F_{h,n}(x) &= \frac{\alpha^n(x) - \beta^n(x)}{\alpha(x) - \beta(x)} = \frac{\alpha^n(x) - \beta^n(x)}{\sqrt{h^2(x) + 4}} \\ &= 2^{-n+1} \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2i+1} h^{n-2i-1}(x) (h^2(x) + 4)^i. \quad \square \end{aligned}$$



**Proof.** We proceed by induction on  $n$ . For  $n = 1$  and  $n = 2$ , we have  $L_{h,1}(x) = h(x) = F_{h,2}(x) + F_{h,0}(x)$  and  $L_{h,2}(x) = h^2(x) + 2 = F_{h,3}(x) + F_{h,1}(x)$ . Now, assume that  $L_{h,n-1}(x) = F_{h,n}(x) + F_{h,n-2}(x)$ ,  $n \geq 3$ . From **Definitions 3.1 and 2.1**,

$$\begin{aligned} L_{h,n}(x) &= h(x)L_{h,n-1}(x) + L_{h,n-2}(x) \\ &= h(x)(F_{h,n}(x) + F_{h,n-2}(x)) + F_{h,n-1}(x) + F_{h,n-3}(x) \\ &= (h(x)F_{h,n}(x) + F_{h,n-1}(x)) + (h(x)F_{h,n-2}(x) + F_{h,n-3}(x)) \\ &= F_{h,n+1}(x) + F_{h,n-1}(x). \quad \square \end{aligned}$$

**Corollary 3.1.** For  $n \geq 1$ ,

$$L_{h,n}(x) = h(x)F_{h,n}(x) + 2F_{h,n-1}(x). \tag{3.3}$$

**Corollary 3.2.** For  $n \geq 0$ ,

$$L_{h,n}(x) = 2F_{h,n+1}(x) - h(x)F_{h,n}(x). \tag{3.4}$$

**Theorem 3.2.** The generating function

$$g_L(t) = \sum_{n=0}^{\infty} L_{h,n}(x)t^n \tag{3.5}$$

of the sequence  $\{L_{h,n}(x)\}$  is given as

$$g_L(t) = \frac{2 - h(x)t}{1 - h(x)t - t^2}. \tag{3.6}$$

**Theorem 3.3.** Suppose that  $h(x)$  is an odd polynomial. Then  $L_{h,n}(-x) = (-1)^n L_{h,n}(x)$ .

**Theorem 3.4.** For  $n \geq 0$ ,  $L_{h,n}(x) = \alpha^n(x) + \beta^n(x)$ , where  $\alpha(x)$  and  $\beta(x)$  are the roots of the characteristic Eq. (2.5).

**Corollary 3.3.** For  $n \geq 0$ ,

$$\alpha^n(x) = \frac{L_{h,n}(x) + \sqrt{h^2(x) + 4F_{h,n}(x)}}{2}, \tag{3.7}$$

$$\beta^n(x) = \frac{L_{h,n}(x) - \sqrt{h^2(x) + 4F_{h,n}(x)}}{2}. \tag{3.8}$$

**Corollary 3.4.** For  $n \geq 0$ ,

$$L_{h,n}^2(x) - (h^2(x) + 4)F_{h,n}^2(x) = 4(-1)^n. \tag{3.9}$$

**Corollary 3.5.** For  $n \geq 0$ ,

$$F_{h,2n}(x) = F_{h,n}(x)L_{h,n}(x). \tag{3.10}$$

**Theorem 3.5.** For  $n \geq 1$ ,

$$L_{h,n}(x) = \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \frac{n}{n-i} \binom{n-i}{i} h^{n-2i}(x). \tag{3.11}$$

**Theorem 3.6.** For  $n \geq 1$ ,

$$L_{h,n}(x) = \frac{1}{2^{n-1}} \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{2i} h^{n-2i}(x) (h^2(x) + 4)^i. \tag{3.12}$$



In particular,

$$F_{h,2n+1}(x) = F_{h,n+1}^2(x) + F_{h,n}^2(x). \quad (4.20)$$

**Proof.** This result follows from the identity  $Q_h^{m+n}(x) = Q_h^m(x)Q_h^n(x)$ .  $\square$

**Theorem 4.2.** The roots of the characteristic equation of  $Q_h^n(x)$  are  $\alpha^n(x)$  and  $\beta^n(x)$ .

**Proof.** The characteristic polynomial of  $Q_h^n(x)$  is

$$\begin{aligned} \det(Q_h^n(x) - \lambda I) &= \det \begin{bmatrix} F_{h,n+1}(x) - \lambda & F_{h,n}(x) \\ F_{h,n}(x) & F_{h,n-1}(x) - \lambda \end{bmatrix} \\ &= \lambda^2 - \lambda(F_{h,n+1}(x) + F_{h,n-1}(x)) + (F_{h,n+1}(x)F_{h,n-1}(x) - F_{h,n}^2(x)). \end{aligned}$$

On the basis of Theorem 3.1 and Corollary 4.1,

$$\det(Q_h^n(x) - \lambda I) = \lambda^2 - \lambda L_{h,n}(x) + (-1)^n.$$

The roots of the characteristic equation are

$$\lambda = \frac{L_{h,n}(x) \pm \sqrt{L_{h,n}^2(x) - 4(-1)^n}}{2}.$$

From Corollary 3.4 we obtain

$$\lambda = \frac{L_{h,n}(x) \pm \sqrt{h^2(x) + 4 F_{h,n}(x)}}{2}$$

and from Corollary 3.3 we obtain

$$\lambda = \alpha^n(x) \text{ or } \lambda = \beta^n(x). \quad \square$$

## Acknowledgement

This work is supported by coordinating office of Selcuk University Scientific Research Projects.

## References

- [1] Aşci M, Taşci D. On Fibonacci, Lucas and special orthogonal polynomials. J Comput Appl Math 2007. doi:10.1016/j.cam.2007.01.026.
- [2] Bodnar Y. The Golden Section and non-Euclidean geometry in nature and art. Lvov: Svit; 1994 [In Russian].
- [3] Butusov KP. The Golden Section in the solar system. Problemy Issledovania Vselennoy 1978;7:475–500 [In Russian].
- [4] Cahill ND, Narayan DA. Fibonacci and Lucas numbers as tridiagonal matrix determinants. Fibonacci Quart 2004;42:3:216–21.
- [5] El Naschie MS. Quantum mechanics and possibility of a Cantorian space–time. Chaos, Solitons & Fractals 1992;1:485–7.
- [6] El Naschie MS. On dimensions of Cantor set related systems. Chaos, Solitons & Fractals 1993;3:675–85.
- [7] El Naschie MS. Is quantum space a random Cantor set with a Golden mean dimension the core? Chaos, Solitons & Fractals 1994;4(2):177–9.
- [8] El Naschie MS. Fredholm operators and the wave–particle duality in Cantorian space. Chaos, Solitons & Fractals 1998;9(6):975–8.
- [9] El Naschie MS. On a class of general theories for high energy particle physics. Chaos, Solitons & Fractals 2002;14:649–68.
- [10] El Naschie MS. Complex vacuum fluctuation as a chaotic “limit” set of any Kleinian group transformation and the mass spectrum of high energy particle physics via spontaneous self-organization. Chaos, Solitons & Fractals 2003;17:631–8.
- [11] Falcón S, Plaza Á. On the Fibonacci  $k$ -numbers. Chaos, Solitons & Fractals 2007;32(5):1615–24.
- [12] Falcón S, Plaza Á. The  $k$ -Fibonacci sequence and the Pascal 2–triangle. Chaos, Solitons & Fractals 2007;33(1):38–49.
- [13] Falcón S, Plaza Á. The  $k$ -Fibonacci hyperbolic functions. Chaos, Solitons & Fractals 2008;38:409–20.
- [14] Falcón S, Plaza Á. On  $k$ -Fibonacci sequences and polynomials and their derivatives. Chaos, Solitons & Fractals 2009;39(3):1005–19.
- [15] Gould HW. A history of the Fibonacci  $Q$ -matrix and a higher-dimensional problem. Fibonacci Quart 1981;19:250–7.
- [16] Gratius D. Quasi-crystals. Usp Fiz Nauk 1988;156:347–63 [In Russian].
- [17] Hoggatt VE. Fibonacci and Lucas numbers. Palo Alto, CA: Houghton–Mifflin; 1969.
- [18] Horadam AF. A generalized Fibonacci sequence. Math Mag 1961;68:455–9.
- [19] Kalman D, Mena R. The Fibonacci numbers–exposed. Math Mag 2003;76:167–81.
- [20] Koshy T. Fibonacci and Lucas numbers with applications. John Wiley & Sons, Inc.; 2001.
- [21] Lando SK. Lectures on generating functions. Student Mathematical Library, vol. 23. Providence, RI: American Mathematical Society; 2003.
- [22] Livio M. The Golden ratio: the story of phi, the world’s most astonishing number. New York: Broadway Books; 2002.
- [23] Soroko EM. Structural harmony of systems. Minsk: Nauka i Tekhnika; 1984 [In Russian].
- [24] Spinadel VW. The metallic means family and forbidden symmetries. Int Math J 2002;2(3):279–88.
- [25] Stakhov AP. Introduction into algorithmic measurement theory. Moscow: Sovetskoe Radio; 1977 [In Russian].
- [26] Stakhov AP. Algorithmic measurement theory. Moscow: Nauka; 1979 [In Russian].
- [27] Stakhov AP. Codes of the Golden Proportion. Moscow: Radio i Svyaz; 1984 [In Russian].
- [28] Stakhov AP. The Golden Section in the measurement theory. Comput Math Appl 1989;17(4–6):613–38.
- [29] Stakhov A, Rozin B. The Golden Shofar. Chaos, Solitons & Fractals 2005;26(3):677–84.
- [30] Stakhov A, Rozin B. Theory of Binet formulas for Fibonacci and Lucas  $p$ -numbers. Chaos, Solitons & Fractals 2006;27(5):1162–77.
- [31] Stakhov A, Rozin B. The Golden algebraic equations. Chaos, Solitons & Fractals 2006;27(5):1415–21.

- [32] Vajda S. Fibonacci and Lucas numbers and the Golden Section theory and applications. Ellis Horwood Limited; 1989.
- [33] Vladimirov YS. Quark icosahedron, charged and Vainberg's angle. In: Proceedings of the International Conference, "Problems of Harmony, Symmetry and the Golden Section in Nature, Science and Art, vol. 15. Vinnitsa; 2003. p. 69–79.
- [34] Wilf HS. Generatingfunctionology. Second ed. Boston, MA: Academic Press Inc.; 1994.